

SOME IDENTITIES OF CARLITZ'S TYPE DEGENERATE q -CHANGHEE POLYNOMIALS AND NUMBERS

YUNJAE KIM¹, JIN-WOO PARK², AND JONGKYUM KWON³

ABSTRACT. Recently several authors have studied the degenerate q -special polynomials related to Carlitz's degenerate polynomials. In this paper, we introduce the Carlitz's type degenerate q -Changhee numbers and polynomials. And, we study some explicit identities and properties for the Carlitz's type degenerate q -Changhee numbers and polynomials arising from p -adic q -integral on \mathbb{Z}_p .

2010 MATHEMATICS SUBJECT CLASSIFICATION. 11B68, 11S40, 11S80.

KEYWORDS AND PHRASES. Carlitz's type degenerate q -Changhee polynomials, degenerate Changhee polynomials, the higher-order Carlitz's type degenerate q -Changhee polynomials.

1. INTRODUCTION

Throughout this paper p is a fixed odd prime number. We use the notations \mathbb{Z}_p to express the ring of p -adic integers, \mathbb{Q}_p the field of p -adic rational numbers and \mathbb{C}_p the completion of algebraic closure of \mathbb{Q}_p . The p -adic norm $|\cdot|_p$ is normalized as $|p|_p = \frac{1}{p}$. For $q, x \in \mathbb{C}_p$ with $|q-1|_p < p^{-\frac{1}{p-1}}$. We define the q -analogue of a number x to be $[x]_q = \frac{1-q^x}{1-q}$. Note that $\lim_{q \rightarrow 1} [x]_q = x$.

Let $C(\mathbb{Z}_p)$ be the set of all \mathbb{C}_p -valued continuous functions on \mathbb{Z}_p . For a $f \in C(\mathbb{Z}_p)$, Kim introduced the fermionic p -adic q -integral $I_{-q}(f)$ on \mathbb{Z}_p (see [17, 18, 20]).

$$(1) \quad I_{-q}(f) = \int_{\mathbb{Z}_p} f(x) d\mu_{-q}(x) = \lim_{N \rightarrow \infty} \frac{1}{[p^N]_{-q}} \sum_{x=0}^{p^N-1} f(x) (-q)^x.$$

By (1), the following distribution relation is well-known in [18].

$$(2) \quad \begin{aligned} \int_{\mathbb{Z}_p} f(x) d\mu_{-q}(y) &= \lim_{N \rightarrow \infty} \frac{1}{[p^N]_{-q}} \sum_{x=0}^{p^N-1} f(x) (-q)^x \\ &= \lim_{N \rightarrow \infty} \frac{1}{[dp^N]_{-q}} \sum_{a=0}^{d-1} \sum_{x=0}^{p^N-1} f(a+dx) (-q)^{a+dx}, \end{aligned}$$

where $d \in \mathbb{N}$ with $d \equiv 1 \pmod{2}$.

The q -Euler polynomials $E_{n,q}(x)$ are defined by the fermionic p -adic q -integral on \mathbb{Z}_p ,

$$(3) \quad \int_{\mathbb{Z}_p} e^{[x+y]_q t} d\mu_{-q}(y) = \sum_{n=0}^{\infty} E_{n,q}(x) \frac{t^n}{n!}, \quad (\text{see [1-4, 9-15, 17, 22, 24]}).$$

In particular, if $x = 0$, then $E_{n,q} = E_{n,q}(0)$ are called the q -Euler numbers. By (3), we know that

$$(4) \quad \int_{\mathbb{Z}_p} [x+y]_q^n d\mu_{-q}(x), \quad n \in \mathbb{N} \cup \{0\}.$$

For $r \in \mathbb{N}$, higher-order q -Euler polynomials $E_{n,q}^r(x)$ are defined by

$$(5) \quad \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} e^{[x_1+\cdots+x_r+x]_q} d\mu_{-q}(x_1) \cdots d\mu_{-q}(x_r) = \sum_{n=0}^{\infty} E_{n,q}^{(r)}(x) \frac{t^n}{n!}, \quad (\text{see [1,9,12,15,16]}).$$

The Bell polynomials are given by the generating function

$$\sum_{n=0}^{\infty} Bel_n(x) \frac{t^n}{n!} = e^{x(e^t-1)} \quad (\text{see [7, 10]}).$$

When $x = 1$, $Bel_n = Bel_n(1)$ are called the Bell numbers.

The Stirling number of the first kind is defined by

$$(6) \quad (x)_m = \sum_{n=m}^{\infty} S_1(n, m) x^n, \quad (\text{see [5, 7]}),$$

where $(x)_0 = 1$, $(x)_m = x(x-1) \cdots (x-m+1)$, $(m \geq 1)$.

By (4), we easily obtain

$$(7) \quad \frac{1}{m!} (\log(1+t))^m = \sum_{n=m}^{\infty} S_1(n, m) \frac{t^n}{n!}, \quad (\text{see [5, 7]}).$$

In the inverse expression to (4), the Stirling number of the second kind in the following:

$$(8) \quad x^m = \sum_{n=m}^{\infty} S_2(n, m) (x)_n, \quad (\text{see [5, 7]}).$$

From (6), we can easily derive the following generating function.

$$(9) \quad \frac{1}{m!} (e^t - 1)^m = \sum_{n=m}^{\infty} S_2(n, m) \frac{t^n}{n!}, \quad (\text{see [5, 7]}).$$

The q -Changhee polynomials $Ch_{n,q}(x)$ are defined by the generating function

$$(10) \quad \int_{\mathbb{Z}_p} (1+t)^{[x+y]_q} d\mu_{-q}(y) = \sum_{n=0}^{\infty} Ch_{n,q}(x) \frac{t^n}{n!}, \quad (\text{see [6, 8, 24, 26]}).$$

In the special case $x = 0$, $Ch_{n,q} = Ch_{n,q}(0)$ are called the q -Changhee numbers.

Recently, several authors studied the degenerate q -special polynomials related to Carlitz's degenerate exponential function

$$e_{\lambda}^x(t) = (1 + \lambda t)^{\frac{x}{\lambda}},$$

(see [11-25]). Note that $\lim_{\lambda \rightarrow 0} e_{\lambda}^x(t) = e^{xt}$.

In this paper, we introduce the Carlitz's type degenerate q -Changhee numbers and polynomials, and investigate some interesting identities and

properties for the Carlitz's type degenerate q -Changhee numbers and polynomials arising from p -adic q -integral on \mathbb{Z}_p . In addition, we also define the higher-order q -Changhee polynomials and numbers, find some relations between the Stirling number of the first and second numbers, higher-order q -Euler polynomials and these polynomials.

2. CARLITZ'S TYPE DEGENERATE q -CHANGHEE POLYNOMIALS AND NUMBERS

In this section, we assume that $\lambda, t \in \mathbb{C}_p$ with $|\lambda t|_p < p^{-\frac{1}{p-1}}$.

In the viewpoint of (1.2), we define the Carlitz's type degenerate q -Changhee polynomials which are given by the generating function to be

$$(11) \quad \int_{\mathbb{Z}_p} \left(1 + \log(1 + \lambda t)^{\frac{1}{\lambda}}\right)^{[x+y]_q} d\mu_{-q}(y) = \sum_{n=0}^{\infty} Ch_{n,q,\lambda}(x) \frac{t^n}{n!}, \quad (n \geq 0).$$

Substituting t by $\frac{1}{\lambda} \log(1 + \lambda t)$ in (10), we get

$$(12) \quad \begin{aligned} \int_{\mathbb{Z}_p} \left(1 + \log(1 + \lambda t)^{\frac{1}{\lambda}}\right)^{[x+y]_q} d\mu_{-q}(y) &= \sum_{n=0}^{\infty} Ch_{n,q}(x) \frac{\lambda^{-n}}{n!} (\log(1 + \lambda t))^n \\ &= \sum_{n=0}^{\infty} Ch_{n,q}(x) \lambda^{-n} \sum_{m=n}^{\infty} S_1(m, n) \frac{\lambda^m t^m}{m!} \\ &= \sum_{m=0}^{\infty} \left(\sum_{n=0}^m Ch_{n,q}(x) \lambda^{m-n} S_1(m, n) \right) \frac{t^m}{m!}. \end{aligned}$$

Thus, we have the following theorem.

Theorem 2.1. For $n \geq 0$, we have

$$(13) \quad Ch_{m,q,\lambda}(x) = \sum_{n=0}^m Ch_{n,q}(x) \lambda^{m-n} S_1(m, n).$$

In the viewpoint of inversion formula, Substitute t by $\frac{e^{\lambda t} - 1}{\lambda}$ in (11), we consider that

$$(14) \quad \begin{aligned} \int_{\mathbb{Z}_p} (1 + t)^{[x+y]_q} d\mu_{-q}(y) &= \sum_{m=0}^{\infty} Ch_{m,q,\lambda}(x) \lambda^{-m} \frac{1}{m!} (e^{\lambda t} - 1)^m \\ &= \sum_{m=0}^{\infty} Ch_{m,q,\lambda}(x) \lambda^{-m} \sum_{n=m}^{\infty} S_2(n, m) \frac{\lambda^n t^n}{n!} \\ &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n Ch_{m,q,\lambda}(x) \lambda^{n-m} S_2(n, m) \right) \frac{t^n}{n!} \end{aligned}$$

Thus, we have the following theorem.

Theorem 2.2. For $n \geq 0$, we have

$$(15) \quad Ch_{n,q}(x) = \sum_{m=0}^n Ch_{m,q,\lambda}(x) \lambda^{n-m} S_2(n, m).$$

From (1), we have the integratal equation,

$$(16) \quad q \int_{\mathbb{Z}_p} f(x+1) d\mu_{-q}(x) + \int_{\mathbb{Z}_p} f(x) d\mu_{-q}(x) = [2]_q f(0).$$

Therefore, by (11) and (16), we obtain

$$(17) \quad \begin{aligned} & q \int_{\mathbb{Z}_p} \left(1 + \log(1 + \lambda t)^{\frac{1}{\lambda}}\right)^{[x+1+y]_q} d\mu_{-q}(y) + \int_{\mathbb{Z}_p} \left(1 + \log(1 + \lambda t)^{\frac{1}{\lambda}}\right)^{[x+y]_q} d\mu_{-q}(y) \\ &= [2]_q \left(1 + \log(1 + \lambda t)^{\frac{1}{\lambda}}\right)^{[x]_q}. \end{aligned}$$

By (11) and (17), we get the following formula.

$$(18) \quad \begin{aligned} & \sum_{n=0}^{\infty} \left(q Ch_{n,q,\lambda}(x+1) + Ch_{n,q,\lambda}(x) \right) \frac{t^n}{n!} \\ &= [2]_q \sum_{m=0}^{\infty} \binom{[x]_q}{m} \frac{1}{m!} \left(\log(1 + \lambda t)^{\frac{1}{\lambda}} \right)^m \\ &= [2]_q \sum_{m=0}^{\infty} \binom{[x]_q}{m} \sum_{n=m}^{\infty} \lambda^{n-m} S_1(n, m) \frac{t^n}{n!} \\ &= [2]_q \sum_{n=0}^{\infty} \sum_{m=0}^n \binom{[x]_q}{m} \lambda^{n-m} S_1(n, m) \frac{t^n}{n!}. \end{aligned}$$

Comparing the coefficients on the both sides of (18), we arrive at the following theorem.

Theorem 2.3. *For $n \geq 0$, we have*

$$(19) \quad q Ch_{n,q,\lambda}(x+1) + Ch_{n,q,\lambda}(x) = [2]_q \sum_{m=0}^n \binom{[x]_q}{m} \lambda^{n-m} S_1(n, m).$$

Now, by (5) and (6), we observe that

$$\begin{aligned}
 (20) \quad \sum_{n=0}^{\infty} Ch_{n,q,\lambda}(x) \frac{t^n}{n!} &= \int_{\mathbb{Z}_p} \left(1 + \log(1 + \lambda t)^{\frac{1}{\lambda}}\right)^{[x+y]_q} d\mu_{-q}(y) \\
 &= \int_{\mathbb{Z}_p} \sum_{l=0}^{\infty} \binom{[x+y]_q}{l} \left(\frac{1}{\lambda} \log(1 + \lambda t)\right)^l d\mu_{-q}(y) \\
 &= \int_{\mathbb{Z}_p} \sum_{l=0}^{\infty} \binom{[x+y]_q}{l} \frac{\lambda^{-l}}{l!} (\log(1 + \lambda t))^l d\mu_{-q}(y) \\
 &= \int_{\mathbb{Z}_p} \sum_{n=0}^{\infty} \left(\sum_{l=0}^n \binom{[x+y]_q}{l} \lambda^{n-l} S_1(n, l)\right) d\mu_{-q}(y) \frac{t^n}{n!} \\
 &= \int_{\mathbb{Z}_p} \sum_{n=0}^{\infty} \left(\sum_{l=0}^n \sum_{k=0}^l S_1(l, k) [x+y]_q^k \lambda^{n-l} S_1(n, l)\right) d\mu_{-q}(y) \frac{t^n}{n!} \\
 &= \sum_{n=0}^{\infty} \left(\sum_{l=0}^n \sum_{k=0}^l S_1(l, k) S_1(n, l) \lambda^{n-l} E_{k,q}(x)\right) \frac{t^n}{n!}.
 \end{aligned}$$

Comparing the coefficients on the both sides of (20), we arrive at the following theorem.

Theorem 2.4. *For $n \geq 0$, we have*

$$(21) \quad Ch_{n,q,\lambda}(x) = \sum_{l=0}^n \sum_{k=0}^l S_1(l, k) S_1(n, l) \lambda^{n-l} E_{k,q}(x).$$

From (3), we note that

$$(22) \quad \sum_{n=0}^{\infty} E_{n,q}(x) \frac{t^n}{n!} = \int_{\mathbb{Z}_p} e^{[x+y]_q t} d\mu_{-q}(y).$$

Substituting t by $\frac{1}{\lambda}(e^{\lambda(e^t-1)} - 1)$ in (11), we get

$$\begin{aligned}
 (23) \quad \sum_{k=0}^{\infty} Ch_{k,q,\lambda}(x) \frac{1}{k!} \left(\frac{1}{\lambda}(e^{\lambda(e^t-1)} - 1)\right)^k &= \int_{\mathbb{Z}_p} e^{[x+y]_q t} d\mu_{-q}(y) \\
 &= \sum_{n=0}^{\infty} E_{n,q}(x) \frac{t^n}{n!}.
 \end{aligned}$$

On the other hand, we observe the left hand of the previous equation (23).

$$\begin{aligned}
& \sum_{k=0}^{\infty} Ch_{k,q,\lambda}(x) \frac{1}{k!} \left(\frac{1}{\lambda} (e^{\lambda(e^t-1)} - 1) \right)^k \\
(24) \quad &= \sum_{k=0}^{\infty} Ch_{k,q,\lambda}(x) \lambda^{-k} \sum_{m=k}^{\infty} S_2(m, k) \frac{1}{m!} \left(\lambda(e^t - 1) \right)^m \\
&= \sum_{k=0}^{\infty} Ch_{k,q,\lambda}(x) \lambda^{m-k} \sum_{m=k}^{\infty} S_2(m, k) \sum_{n=m}^{\infty} S_2(n, m) \frac{t^n}{n!} \\
&= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \sum_{k=0}^m Ch_{k,q,\lambda}(x) \lambda^{m-k} S_2(m, k) S_2(n, m) \right) \frac{t^n}{n!}.
\end{aligned}$$

Comparing the coefficients on the both sides of (23) and (24), we arrive at the following theorem.

Theorem 2.5. *For $n \geq 0$, we have*

$$E_{n,q}(x) = \sum_{m=0}^n \sum_{k=0}^m Ch_{k,q,\lambda}(x) \lambda^{m-k} S_2(m, k) S_2(n, m).$$

From (1) and (3), we observe that

$$\begin{aligned}
(25) \quad E_{n,q}(x) &= \int_{\mathbb{Z}_p} [x+y]_q^n d\mu_{-q}(y) \\
&= \lim_{N \rightarrow \infty} \frac{1}{[p^N]_{-q}} \sum_{y=0}^{p^N-1} [x+y]_q^n (-q)^y \\
&= \frac{[2]_q}{2(1-q)^n} \sum_{l=0}^n \binom{n}{l} (-1)^l q^{lx} \lim_{N \rightarrow \infty} \sum_{y=0}^{p^N-1} (-1)^y (q)^{(l+1)y} \\
&= \frac{[2]_q}{(1-q)^n} \sum_{m=0}^{\infty} (-1)^m q^m \sum_{l=0}^n \binom{n}{l} (-1)^l q^{l(m+x)} \\
&= [2]_q \sum_{m=0}^{\infty} (-1)^m q^m [m+x]_q^n, \quad (\text{see ([18])}).
\end{aligned}$$

By Theorem 2.4 and (25), we arrive at the following theorem.

Theorem 2.6. *For $n \geq 0$, we have*

$$(26) \quad Ch_{n,q,\lambda}(x) = \sum_{m=0}^{\infty} \sum_{l=0}^n \sum_{k=0}^l [2]_q (-1)^m q^m S_1(l, k) S_1(n, l) \lambda^{n-l} [m+x]_q^k.$$

Assume that $d \in \mathbb{N}$, with $d \equiv 1 \pmod{2}$. Using (2), we get

$$\begin{aligned}
 (27) \quad & \sum_{n=0}^{\infty} Ch_{n,q,\lambda}(x) \frac{t^n}{n!} \\
 &= \int_{\mathbb{Z}_p} \left(1 + \log(1 + \lambda t)^{\frac{1}{\lambda}}\right)^{[x+y]_q} d\mu_{-q}(y) \\
 &= \lim_{N \rightarrow \infty} \frac{1}{[p^N]_{-q}} \sum_{y=0}^{p^N-1} \left(1 + \log(1 + \lambda t)^{\frac{1}{\lambda}}\right)^{[x+y]_q} (-q)^y \\
 &= \lim_{N \rightarrow \infty} \frac{1}{[dp^N]_{-q}} \sum_{a=0}^{d-1} \sum_{y=0}^{p^N-1} \left(1 + \log(1 + \lambda t)^{\frac{1}{\lambda}}\right)^{[x+a+dy]_q} (-q)^{a+dy} \\
 &= \lim_{N \rightarrow \infty} \frac{1}{[d]_{-q}} \frac{1}{[p^N]_{-q^d}} \sum_{a=0}^{d-1} \sum_{y=0}^{p^N-1} \left(1 + \log(1 + \lambda t)^{\frac{1}{\lambda}}\right)^{[d]_q \left[\frac{a+x}{d} + y\right]_q} (-q)^a (-q^d)^y \\
 &= \frac{1}{[d]_{-q}} \sum_{a=0}^{d-1} (-q)^a \lim_{N \rightarrow \infty} \frac{1}{[p^N]_{-q^d}} \sum_{y=0}^{p^N-1} \sum_{l=0}^{\infty} \binom{[d]_q \left[\frac{a+x}{d} + y\right]_q}{l} \left(\log(1 + \lambda t)^{\frac{1}{\lambda}}\right)^l (-q^d)^y \\
 &= \frac{1}{[d]_{-q}} \sum_{a=0}^{d-1} (-q)^a \lim_{N \rightarrow \infty} \frac{1}{[p^N]_{-q^d}} \\
 &\quad \times \sum_{y=0}^{p^N-1} \sum_{n=0}^{\infty} \left(\sum_{l=0}^n \sum_{k=0}^l S_1(l, k) S_1(n, l) [d]_q^k \left[\frac{a+x}{d} + y\right]_q^k \lambda^{n-l} \right) \frac{t^n}{n!} (-q^d)^y \\
 &= \sum_{n=0}^{\infty} \left(\sum_{l=0}^n \sum_{k=0}^l \frac{1}{[d]_{-q}} \sum_{a=0}^{d-1} (-q)^a S_1(l, k) S_1(n, l) [d]_q^k \lambda^{n-l} E_{k,q^d} \left(\frac{a+x}{d}\right) \right) \frac{t^n}{n!}.
 \end{aligned}$$

Comparing the coefficients on the both sides of (27), we obtain the following distribution relation on Carlitz's type degenerate q -Changhee polynomials.

Theorem 2.7. *Let $d \in \mathbb{N}$, with $d \equiv 1 \pmod{2}$. For $n \geq 0$, we have*

$$(28) \quad Ch_{n,q,\lambda}(x) = \sum_{l=0}^n \sum_{k=0}^l \frac{1}{[d]_{-q}} \sum_{a=0}^{d-1} (-q)^a S_1(l, k) S_1(n, l) [d]_q^k \lambda^{n-l} E_{k,q^d} \left(\frac{a+x}{d}\right).$$

For $r \in \mathbb{N}$, the higher-order Carlitz's type degenerate q -Changhee polynomials are given by the multivariate fermionic p -adic q -integral as follows:

$$\begin{aligned}
 (29) \quad & \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} \left(1 + \log(1 + \lambda t)^{\frac{1}{\lambda}}\right)^{[x_1 + \cdots + x_r + x]_q} d\mu_{-q}(x_1) \cdots d\mu_{-q}(x_r) \\
 &= \sum_{n=0}^{\infty} Ch_{n,q,\lambda}^{(r)}(x) \frac{t^n}{n!}, \quad (n \geq 0).
 \end{aligned}$$

Now, we observe that

$$\begin{aligned}
(30) \quad & \sum_{n=0}^{\infty} Ch_{n,q,\lambda}^{(r)}(x) \frac{t^n}{n!} \\
&= \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} \left(1 + \log(1 + \lambda t)^{\frac{1}{\lambda}}\right)^{[x_1 + \cdots + x_r + x]_q} d\mu_{-q}(x_1) \cdots d\mu_{-q}(x_r) \\
&= \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} \sum_{l=0}^{\infty} \binom{[x_1 + \cdots + x_r + x]_q}{l} \left(\frac{1}{\lambda} \log(1 + \lambda t)\right)^l d\mu_{-q}(x_1) \cdots d\mu_{-q}(x_r) \\
&= \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} \sum_{l=0}^{\infty} \binom{[x_1 + \cdots + x_r + x]_q}{l} \frac{\lambda^{-l}}{l!} (\log(1 + \lambda t))^l d\mu_{-q}(x_1) \cdots d\mu_{-q}(x_r) \\
&= \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} \sum_{n=0}^{\infty} \left(\sum_{l=0}^n \binom{[x_1 + \cdots + x_r + x]_q}{l} \lambda^{n-l} S_1(n, l) \right) d\mu_{-q}(x_1) \cdots d\mu_{-q}(x_r) \frac{t^n}{n!} \\
&= \int_{\mathbb{Z}_p} \cdots \int_{\mathbb{Z}_p} \sum_{n=0}^{\infty} \left(\sum_{l=0}^n \sum_{k=0}^l S_1(l, k) [x_1 + \cdots + x_r + x]_q^k \lambda^{n-l} S_1(n, l) \right) d\mu_{-q}(x_1) \cdots d\mu_{-q}(x_r) \frac{t^n}{n!} \\
&= \sum_{n=0}^{\infty} \left(\sum_{l=0}^n \sum_{k=0}^l S_1(l, k) S_1(n, l) \lambda^{n-l} E_{k,q}^{(r)}(x) \right) \frac{t^n}{n!}.
\end{aligned}$$

Comparing the coefficients on the both sides of (30), we arrive at the following theorem.

Theorem 2.8. *For $n \geq 0$, we have*

$$(31) \quad Ch_{n,q,\lambda}^{(r)}(x) = \sum_{l=0}^n \sum_{k=0}^l S_1(l, k) S_1(n, l) \lambda^{n-l} E_{k,q}^{(r)}(x).$$

Substituting t by $\frac{1}{\lambda}(e^{\lambda(e^t-1)} - 1)$ in (29), we get

$$\begin{aligned}
(32) \quad & \sum_{k=0}^{\infty} Ch_{k,q,\lambda}^{(r)}(x) \frac{1}{k!} \left(\frac{1}{\lambda}(e^{\lambda(e^t-1)} - 1)\right)^k = \int_{\mathbb{Z}_p} e^{[x_1 + \cdots + x_r + x]_q t} d\mu_{-q}(x_1) \cdots d\mu_{-q}(x_r) \\
&= \sum_{n=0}^{\infty} E_{n,q}^{(r)}(x) \frac{t^n}{n!}.
\end{aligned}$$

On the other hand, we observe the left hand (32) is given by.

$$\begin{aligned}
 & \sum_{k=0}^{\infty} Ch_{k,q,\lambda}^{(r)}(x) \frac{1}{k!} \left(\frac{1}{\lambda} (e^{\lambda(e^t-1)} - 1) \right)^k \\
 (33) \quad &= \sum_{k=0}^{\infty} Ch_{k,q,\lambda}^{(r)}(x) \lambda^{-k} \sum_{m=k}^{\infty} S_2(m, k) \frac{1}{m!} \left(\lambda(e^t - 1) \right)^m \\
 &= \sum_{k=0}^{\infty} Ch_{k,q,\lambda}^{(r)}(x) \lambda^{m-k} \sum_{m=k}^{\infty} S_2(m, k) \sum_{n=m}^{\infty} S_2(n, m) \frac{t^n}{n!} \\
 &= \sum_{n=0}^{\infty} \left(\sum_{m=0}^n \sum_{k=0}^m Ch_{k,q,\lambda}^{(r)}(x) \lambda^{m-k} S_2(m, k) S_2(n, m) \right) \frac{t^n}{n!}.
 \end{aligned}$$

Comparing the coefficients on the both sides of (32) and (33), we arrive at the following theorem.

Theorem 2.9. *For $n \geq 0$, we have*

$$(34) \quad E_{n,q}^{(r)}(x) = \sum_{m=0}^n \sum_{k=0}^m Ch_{k,q,\lambda}^{(r)}(x) \lambda^{m-k} S_2(m, k) S_2(n, m).$$

3. CONCLUSION

The Changhee polynomials are one of the important special polynomials and have been investigated some interesting properties of those polynomials and numbers by many researchers (see [1, 6, 8, 24, 26]). In particular, they found that the Changhee polynomials are related closely to the Euler polynomials, the Stirling numbers of the first and second kind.

In this paper, we define the Carlitz's type degenerate q -Changhee polynomials and show that these polynomials can be represented the linear combinations of the q -Changhee polynomials, the Stirling numbers of the first and second kinds and q -Euler polynomials. In addition, we also define the higher-order Carlitz's type degenerate q -Changhee polynomials by using p -adic q -integral on \mathbb{Z}_p and find some interesting properties of those polynomials.

4. ACKNOWLEDGMENTS

This paper is dedicated to Professor Seog-Hoon Rim on the occasion of his retirement.

Authors are thankful to the referees for their useful suggestions.

This work was supported by the National Research Foundation of Korea(NRF) grant funded by the Korea government(MSIT) 2020R1F1A1A01075658.

REFERENCES

- [1] S. Araci, E. Ađyüz, M. Acikgoz, *On a q -analog of some numbers and polynomials*, J. Inequal. Appl. 2015, 19(2015).
- [2] A. Bayad and T. Kim, *Identities involving values of Bernstein, q -Bernoulli, and q -Euler polynomials*, Russ. J. Math. Phys., **18** (2011), 133-143.
- [3] L. Carlitz, *q -Bernoulli numbers and polynomials*, Duke Math. J., 15 (1948), 987-1000.
- [4] L. Carlitz, *q -Bernoulli and Eulerian numbers*, Trans. Amer. Math. Soc., **76** (1954), 332-350.

- [5] L. Carlitz, *Degenerate Stirling, Bernoulli and Eulerian numbers*, Utilitas Math. **15** (1979), 51-88.
- [6] Y. K. Cho, T. Kim, T. Mansour and S. H. Rim, *On a (r, s) -analogue of Changhee and Daehee numbers and polynomials*, Kyungpook Math. J., **55** (2015), no. 2, 225-232.
- [7] L. Comtet, *Advanced Combinatorics*, Reidel, Dordrecht, 1974.
- [8] D. V. Dolgy, G. W. Jang, H. I. Kwon and T. Kim, *A note on Carlitz's type q -Changhee numbers and polynomials*, Adv. Stud. Contemp. Math., (Kyungshang) **27** (2017), no. 4, 451-459.
- [9] L. C. Jang, B. M. Kim, S. Choi, C. S. Ryou and D. V. Dolgy, *Some explicit identities for the modified higher-order q -Euler polynomials and their zeros*, J. Nonlinear Sci. and Appl., **10** (2017), 2524-2538.
- [10] L. C. Jang, T. Kim, D. H. Lee and D. W. Park, *An application of polylogarithms in the analogs of Genocchi numbers*, Notes Number Theory Discrete Math. **7** (2001), no. 3, 65-69.
- [11] J. H. Jeong, J. H. Jin, J. W. Park and S. H. Rim, *On the twisted weak q -Euler numbers and polynomials with weight 0*, Proc. Jangjeon Math. Soc., **16** (2013), 157-163.
- [12] D. S. Kim and T. Kim, *Identities of symmetry for generalized q -Euler polynomials arising from multivariate fermionic p -adic q -integral on \mathbb{Z}_p* , Proc. Jangjeon Math. Soc., **17** (2014), 519-525.
- [13] D. S. Kim and T. Kim, *Three variable symmetric identities involving Carlitz-type q -Euler polynomials*, Math. Sci., **8** (2014), 147-152.
- [14] D. S. Kim and T. Kim, *Some identities of symmetry for Carlitz q -Bernoulli polynomials invariant under S_4* , Ars Combin., **123** (2015), 283-289.
- [15] D. S. Kim and T. Kim, *Symmetric identities of higher-order degenerate q -Euler polynomials*, J. Nonlinear Sci. and Appl., **09** (2016), 443-451.
- [16] D. S. Kim, T. Kim, S. -H. Rim and J. J. Seo, *A note on symmetric properties of the multiple q -Euler zeta functions and higher-order q -Euler polynomials*, Appl. Math. Sci.(Ruse), **8** (2014), 29-32.
- [17] T. Kim, *q -Volkenborn integration*, Russ. J. Math. Phys., **9**(2002), no. 3, 288-299.
- [18] T. Kim, *q -Euler numbers and polynomials associated with p -adic q -integrals*, J. Nonlinear Math. Phys., **14** (2007), 15-27.
- [19] T. Kim, *New approach to q -Euler polynomials of higher-order*, Russ. J. Math. Phys., **17** (2010), 218-225.
- [20] T. Kim, *A study on the q -Euler numbers and the fermionic q -integrals of the product of several type q -Bernstein polynomials on \mathbb{Z}_p* , Adv. Stud. Contemp. Math., **23** (2013), 5-11.
- [21] T. Kim, D. V. Dolgy, L. C. Jang and H.-I. Kwon, *Some identities of degenerate q -Euler polynomials under the symmetry group of degree n* , J. Nonlinear Sci. Appl., **9** (2016), no. 6, 4707-4712.
- [22] T. Kim, D. S. Kim, *Identities of symmetry for degenerate Euler polynomials and alternating generalized falling factorial sums*, Iran J. Sci. Tech. Trans. Sci., 2017, 10. 1007.
- [23] T. Kim, D. S. Kim and D. V. Dolgy, *Degenerate q -Euler polynomials*, Adv. Difference Equ., **2015** (2015), 13662.
- [24] T. Kim, T. Mansour, S. -H. Rim, J. -J. Seo, *A note on q -Changhee polynomials and numbers*, Adv. Studies Theor. Phys., **8** (2014), no. 1, 35-41.
- [25] N. I. Mahmudov, *On a class of q -Bernoulli and q -Euler polynomials*, Adv. Diff. Equ., 2013, 2013:108.
- [26] E. J. Moon, J. W. Park, *A note on the generalized q -Changhee numbers of higher order*, J. Comput. Anal. Appl., **20** (2016), no. 3, 470-479.

¹ DEPARTMENT OF MATHEMATICS, KYUNGPOOK NATIONAL UNIVERSITY, DAEGU, 41566,
REPUBLIC OF KOREA
E-mail address: kimholzi@gmail.com

² DEPARTMENT OF MATHEMATICS EDUCATION, DAEGU UNIVERSITY, 38453, REPUBLIC
OF KOREA, CORRESPONDING AUTHOR
E-mail address: a0417001@knu.ac.kr

³ DEPARTMENT OF MATHEMATICS EDUCATION AND ERI, GYEONGSANG NATIONAL
UNIVERSITY, JINJU, GYEONGSANGNAMDO, 52828, REPUBLIC OF KOREA, CORRESPOND-
ING AUTHOR
E-mail address: mathkjk26@gnu.ac.kr

